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Typ Vyrobce Ut Tt 2 Ta Bt s Ry

v A \% mA \% mA/V kQ

1 3 4 5 6 7 8 9
0QQ50/1000‘ Tungsram 7,5 4 1500 125 150 - —
1250 100 150 — -

! 1500 190 22,5 — ~
j0QQ50/1500 | Tungsram 7,5 4 1500 125 — 2 235
OT100 Tungsram l 10 3,25 1750%) — - - —
| 1250 200 - - -

1750 250 — - -

1250 85 65 - -

1000 160 195 - —

OT400 | Tungsram 10 10,6 4000%) — - — —
‘ 4000 100 100 — —

| 4000 150 120 - —

3000 415 300 - -

4000 500 500 - -

P100/1000 | Tungsram 6 2,5 1250 110 210 — —

P100/1250 | Tungsram 10 3,25 1250%) 1504) - 4 3
1250 150 153 - -

"PR4B Gecovalve 11 2,5 | 2000%) = - 6 4
R253 Telefunken 16,5 16,5 12000 — — 8 6,25
RDI12Tf | Telefunken 12,6 0,6 400 90 — 16 3,4
RS15 Telefunken 16,6 17,5 4000 ~ - 3,5 1,45
RS18 Telefunken 16 8,8 3000 _ — 2,5 2,2
RS19 | Telefunken 14 4,8 3000 — - 15 4,75
RS31 Telefunken 10 4,8 1600 — — 1,3 2,55

RS47 Telefunken 16 8 10000 - — 2,5 50

RS55 Telefunken 10 3 700 35 25 1,1 18

RS69 Telefunken 10,3 2,75 1000 - — 5 46
RS207 Telefunken 16,5 18 5000 500 — 4 12,5

RS207A Telefunken 16,5 16 10000 — — 4,5 11
| RS212 Telefunken 12,5 6 4000 120 — 1,6 12,5

RS214 Telefunken 22 13 2000 370 — 4 8

[ RS215 | Telefunken 22 23 4000 750 — 5 10

RS217 Telefunken 17,5 56 11000 1650 850 12 1

RS233 Telefunken 10 4,3 1600 _ — 2 7

RS234 Telefunken 10 3,3 | 1000 - - 4 3

RS235 Telefunken 10 3,5 1000 200 ~ 4 3

RS237 Telefunken 10 3,25 12504) 1502) 153 4 3
1250 150 153 —

RS243 Telefunken 10 3,25 1250 150 25 | - —
' 1000 150 225 - -

1250 320 100 - —

'RS249 Telefunken 12,6 40 600 - 60 | 3,5 5,7
| RS250 Telefunken 17,5 120 11000 2700 70 12 6,4

992

Rq Po Py B Cug Poznamky Typ g:;
kQ w w
10 11 12 13 14 15 16 | 17
— 50 140 47 2,8 zes C; Al; Pp=9,5 W; I;;=35mA; 0QQ50/1000| 900
Ry=940
- 35 95 — — zes C; A3; Pyp,=7,5W; I;; =30 mA;
mod/a
18,3%) — 185 — — zesv nf; P,=4,8 W; zes B; 1) R,
— 50 140 47 — zes C; zes vf; osc; =1,1 m 0QQ50/1500
— — —_ 20 5 Cgk=6,4 pF; Co =1 pF; f=50 Mc/s; 0T100
') max
8Y) — 250 — — 1) Rgy; mod; P,=4 W; zesv nf; zes B
— — 330 — — zes C; Al; osc; Ry =2000 Q5 I =35mA
- 75 40 - — zes B; A3; Iy =2mA; Pp=5,5W
— 115 50 — — zes C; A3; mod/a; Ip; =28 mA;
Py=9 W; Ry =7000 Q; Uq pay=1750 V
— 400 — 35 6,3 Cgx=12,3 pF; C.=8,5 pF; !) max 0OT400
121) 400 2400 — — mod; ') Ry,; Pp,=29 W; zesv nf; zes B
— 400 225 - — zes B; A3; Ig1 =2 mA; Py=14 w
— 270 1000 — — zes C; A3; mod/a; Igy =2 mA;
Py=37TW; R81=3600 Q
— 400 1440 — - zes C; Al; osc; Ry =2650; Ry =380 Q2;
Iy =75mA
10Y) — 100 - 8,8 zesv nf; PP; zes AB; ') Rg,; P100/1000
Ug og =300 V5 I gig max=120V
— 85%) - 12 13 f=6 Mc/s; 1) 2) %) max P100/1250
- — 140 - — zes C; Al; osc; Igl=ll,5mA
— 2502) - 25 - 1y 2) max PR4B
— 800 2500 50 6 Cgx=13 pF; Cx=1,5 pF R253
- — — — - Smax="T700 Mc/s; I =20 mA RDI12Tf
- 700 1500 50 — RS15
— 350 450 55 8 Cx =15 pF; Cyx=1,5pF _RSIS
— 150 175 71 6 Cgx =9 PF; Cy=0,6 pF RS19
— 75 65 33 5 | Cox=8DF; Cy=1pF RS31
- 550 100 125 6,5 Cgx=14 pF; Cy,=1 pF RS47
— 15 12 20 5,5 Cgx =7 pF; C=0,2 pF RS55
- 20 25 33 8,5 Cgr=11 pF; Cy=1,5 pF RS69
- 800 1800 50 - Smax=75 Mc/s RS207
— 1250 2500 50 — RS207A
— 250 250 50 — Ig1=10 mA; Pp,=4,2W RS212
—_ 350 440 32 - Jmax=15 Mc/s RS214
- 1000 1800 50 — Fmax=15 Mc/s RS215
— 12000 12000 12,5 — A3;zes B; f=3 Mc/s; I5) =150 mA; RS217
Py,=190W
— 75 40 14 4,5 Cex=8 pF; Cyx=1 pF RS233
— — 120 12 — RS234
- — 42,5 12 — Fax=15 Mc/s RS235
- 85%) — 12 13 =6 Mc/s; 1) 2) 3) max RS237
— — 140 — — Al; zes C; osc; Ig;=11,5mA
— 100 130 — 14,5 Al; zes C; Ig1 =18 mA; Py=17W; RS243
I3 max=175 mA
— — 100 - — A3; zes B; I5)=35mA; P,=14W
— — 260 — — zesv nf; zes B; P,=8 W
- 13 12 20 — Fmax=200 Mc/s RS249
— 12000 20000 77 — A3; zes B; f=3 Mc/s; I5; =600 mA; RS250
Py=450 W
63 _ Prehled elektronek 993



